I\

W7 =hI)LT—74 / Technical Datall HMANE / Components
No. Z ¥ / Part name = / Pcs #ME / Material 8- REAIE / ColorFinish
*#$ LY / Recommended torque a—F—Jayy FILEFAFr Xk ADC12 DIR— | TSy B
FNATTARILEM3X10 / Hexagonal M3-10 : 0.2N-m 1 Corner block ! Diecast aluminium ADC12 Silver , Black=Painted (Unfinished inside)
. {4 7L A6063S-T5 DIWIN— , TSVY-FILIARY 7B
E&Q\yt"pb‘ E AM5x8 / Self—tapping pan head M5-8 : 1.5N*m 2 Frame 2 Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
ZDHhE R / Other screws : 0.3N=m ~ 0.6N*m 2 IL—L . 7L A6063S-T5 DIIN—, TS TILIANY T B
I Panel support frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
-BXF FFAME / Handle Allowable load : 20Kgf ey VSR AT100P Y =—r
! Panel 2 Aluminium A1100P Silver , Black*Anodized
5 Hi— ! 7 LR A1100P DIN—  TZY- TR
Top cover Aluminium A1100P Silver , Black+*Anodized
6 FTHh— ] 7 LR A1100P DIN—, TZY- TR
Bottom cover Aluminium A1100P Silver , Black*Anodized
; aA—F—H—F o TPE (TZ5Rh) T390, TJL—, RAE—, LYK
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
FrULTNURIL 7395, JL—
8 Carrying handle ! PU. PAS, ABS , ANCH Black , Gray
o EFE R (M3 x 8) " #% 2R
Screw (Flat head M3 — 8) Steel Nickel plated
0 EFER (REITUFAILIMS x 10) o # =EBo0A—+
Screw (Hexagonal M3-10) Steel Black trivalent chromate
y BFER (FREYELTMS x 8) . % =fE/OA—k
Screw (Self-tapping pan head M5-8) Steel Trivalent chromate
i EFER (REREFMS x 5) . # ZyirLAvE | ZflRIAA—H
Screw (Original trapezoid hex head M3 - 5) Steel Nickel plated , Black trivalent chromate

B4 (EERREOOQ) / Color Type (End of product numberd 1)

5
10
7
4/ Title
TAKACHI] MRRAE#4HFEHRIE aA—F—H—FfFE¥r)oF5—X () :|
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. | Portable Aluminium Instrument Case with Handle
7 2%/ Approved 1% X]/Checked #X/Created R /Product number RE/Scale
iR 3 %% | AUGH88-30-43-01010J R
{ERL B /Date 2024/09/26 1 7 7

i85 / Code | 7JILEH—X / Aluminium enclosure O—F—H—K / Corner guard  FF¥'J>% /\UEJL / Carrying handlg
SBB 2 JLsR— / Silver 75v% / Black 75979 / Black
SGB 2 JLsR— / Silver 5'L— / Gray 75979 / Black
SNB 2 JLsR— / Silver FAE— / Navy 7597 / Black
SRB 2 JLsR— / Silver LYK / Red 75979 / Black
SBG 2 JLsR— / Silver T597% / Black 5'L— / Gray
S GG < JLIR— / Silver J'L— / Gray J'L— / Gray
S NG < )LsN— / Silver FAE— / Navy J'L— / Gray
SRG < )LsN— / Silver Lk / Red S L— / Gray
BB B T59% / Black T597% / Black 7597 / Black
B GB T59% / Black J'L— / Gray T5v% / Black
B NB 75974 / Black FAE— / Navy 7597 / Black
BRB 735v% / Black Lk / Red 75v% / Black

AREOEEEIIHISHINTFERITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




I

B-B(16) C view H
2
N T_: 11
C
.! o !.J
F view 50
R52
Re4 f(,H P H\j
/ o % 8

308

438

25

A-A(1:6)
®
®
®
®
66

416

430+ 0.8 (r— A4V 2 / External)

E view

300+ 0.5 (r— R4 2 / External)

C-C(1:6)

293

81

88+0.3

(r—R45\ % / External)

B view

BRSUINFERT %

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
JO—F—H—Ff¥xv )05 —X

Portable Aluminium Instrument Case with Handle

o]

752/ Approved & X|/Checked [ /Created 4 F /Product number RE/Scale
1:6
iR : #F7 | AUGH88-30-43-00100 —
{ERLH/Date 2023/07/05 2 /7

AREDEFEIBRRSHINDTFER T EITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

380

87

N
7/

o)
7/

e
7/

e
N4

M / Front side

D {l#% / D Frame

28

127.5

380

28

4-@5.5

87

M / Front side

80.7

80.7

225

25

22.5

2.5

33

3.3

3.3

3.3

5 m
2 2
5 2-M3RHS7% M3 9
2-M3 Countersunk
¥ RXEEHEIFR / Same on the other side.
Z | / Back side
B =
Bt S
o 2-M3FH 371 M3 5

2-M3 Countersunk

X RxtE+E E4R / Same on the other side.

Z T / Back side

BRASHEIHTFERIE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
GRS

Frame

o]

RIE/Scale

7K B/ Approved

iR

#%[X|/Checked #I[X/Created

x wF

FIE /Product number

1:3

R— /Page

H88 — D430

YERZ B /Date 2023/07/07

3 /717

AREDEFEIBRRSHINDTFER T EITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

250

25

14

N

2-M3RAHY I}
2-M3 Countersunk

45

29

3.3

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
IL—L

Panel support frame

o]

755/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1:15
iR z w4t —
W300 1ERLH/Date 2022/11/16 4 /1

AREDEFIEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /NI / A Panel

250

717.2

M@ / Front side

B /\2RJL / B Panel

B~k / Max dim. 242+ 0.5

M / Front side

B#Ti% / Max dim. 69.2+ 0.3

15

fREES — A

Surface protective film side

fREES — A

Surface protective film side

Z | / Back side

5| / Back side

fnda/Title
TAKACHI| #RARHINFEHRIE IR @ |:]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7K B/ Approved &/ Checked #1[X]/Created RIFE /Product number RE/Scale
1:25
iR £ 4t ~R—/Page
H88 — W300 {ERL B /Date 2023/03/10 5 /17

AREDEFEIBRRSHINDTFER T EITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




289.4

4-R147 2170

/o s
s 8 o o
; <

\® o

BE#~ti% / Max dim. 253+ 0.5

M@ / Front side

6-@4.5

St 5% / Max dim. 383+ 0.5

7
X

5

RS — A

Surface protective film side

2@ / Back side

AN
°

/o
©

PAN

fod

o
</

% /Title
TAKACHI| ¥X&suahFEHIE HI8— @ CI
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
AR/ Approved #R[X/Checked #[X/Created #4% /Product number RIE/Scale
1:3
iR ES e R—T/Page
W300 - D430 fERE/Date  2022/11/16 6 /7

AREDEFIEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




289.4

4-R147 2170

7S N
s 8 o o
; <

N %

BE#~ti% / Max dim. 253+ 0.5

R / Front side

6-@4.5

St 5% / Max dim. 383+ 0.5

B
X

5

fREES— A

Surface protective film side

ZEME / Back side

AN
°

/o
©

PAN

fod

o
</

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
THhi—

Bottom cover

o]

AR/ Approved #&[X/Checked #[X]/Created #1%/Product number RE/Scale
1:3
iR ES e R—T/Page
W300 - D430 fEfiA/Date  2022/11/16 7/1

AREDEFIEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	
	Sheets and Views
	Model
	AM_VIEW1
	AM_VIEW2
	AM_VIEW3
	AM_VIEW4
	AM_VIEW5
	AM_VIEW6






